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1 100kN/mM#%#B x5 1.00| 000 ~ 353 156.88 |3m%xi#EZ%| 000 ~ 037 | 3.20 16.16 | 100kN/m#%8x5| 1.00 |10.54 ~ 35.07 156.88 |3m&x#E X 5[25.00 ~ 3507 | 3.20 16.16
zhs 1.00 ]| 353 ~ 11.31 100.00 | Z#h st | 037 ~ 1131 | 3.00 15.16 zh s 1.00 | 500 ~ 10.54 100.00 | Zh st | 5.00 ~ 2500 | 3.00 15.16
2 100kN/mM#%#B x5 1.00 | 0.00 ~ 3.27 15243 |3m%xi#EZ 5| 000 ~ 047 | 3.28 16.60 | 100kN/m%{Ex 5| 1.00 |11.04 ~ 29.07 15243 [3m&x#E X 5[25.00 ~ 29.07 | 3.28 16.60
zhs 1.00| 3.27 ~ 11.06 100.00 | ZhList | 047 ~ 11.06 | 3.00 15.16 zh s 1.00 | 5.00 ~ 11.04 100.00 | Zh s | 5.00 ~ 25.00 | 3.00 15.16
3 100kN/mM#%#B x5 1.00| 000 ~ 224 134.79 |3m%xi#EZ%| 000 ~ 0.18| 3.13 15.81 | 100kN/m%#8x 5| 1.00 |12.54 ~ 23.05 134.79 |3m%x#E X 5[20.00 ~ 23.05| 3.13 15.81
zhs 1.00 | 224 ~ 10.02 100.00 | Z#hList | 018 ~ 10.02 | 3.00 15.16 zhs 1.00 | 5.00 ~ 1254 100.00 | Zh s | 5.00 ~ 20.00 | 3.00 15.16
4 100kN/mM#%#B x5 1.00| 0.00 ~ 246 138.55 [3m%EHEZ 5 -~ — — —| 100kN/m%#%%| 1.00 (1090 ~ 21.02 138.55 [3m%EHEZ 5 -~ - — —
zh s 1.00 | 246 ~ 10.25 100.00 | ZhList | 0.00 ~ 10.25| 2.88 14.58 zhs 1.00 | 500 ~ 10.90 100.00 | Zh st | 5.00 ~ 21.02 | 2.88 14.58
100kN/mM#%#B x5 ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
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100kN/mM%#BZ % ~ 3ImZHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
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Th s ~ Zhst ~ Th s ~ Zhs ~
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Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImzHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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